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In this chapter, in each question some¢
numbers/alphabets are given in one/more
than one figures/matrix. The numbers/
alphabets are arranged in a proper prdcr. In a
part of the figure a number is not given and it
is replaced by a question mark (7). You havq to
evaluate the gquestions and find out which
alphabet/numbers will come in place of

question mark.

MISSING NUMBER

{2) Which number will come in

the pj
of question mark in the figure %3:5

below?
4 36 A Qﬁ'
16@64 4@1 i"}f 8
5 % , %:6‘*“ l

Figure A Figu
(1) 20 (2) 22"

, Figure C
(4) 27

Some of the questions with their detailed Sol. 2; In the figurt given above the Number
analyses have been explained below. given in the-gigefe is the sum of the
For eg: : f}?uax.*c rgs of the numbers encircling
(1) Find the missing number in the figure .e ."3 ’i
given below and choose the correct F‘% 13
alternative from the options given. ”q ':‘f;g*_ Jo+Vi6 =2+8+3+4=17
7| a9 . figire in B,
14| 8 | ? 41'\7%+JE+JE+JI=6+1+4+2=13
28 | 16 | 36 & é} .~ In the same type figure in C,
s6 | 32 | 32 @ =5+9+2+6=[23
Ans. (2).
(1)81 ()27 (3)16 (4)18 (3) Find the missing alphabet
Sol. 4; In 1st column e -
T=x2=19 %{{, T Uz
Nt
14 x 2 = 28 @ Q{R|U
28 x 2 = 56 Rg 4 N|o|RrR
In 2nd column
\ DL (2)O0 (3)1 (4
arncs ‘ (hL 2) B)1 (99X .
16 x2=3 +3 3 +3
In the
“b 36 +3 -+ +3
; y36 2=72 N
O R
An'o [4'. Ans. ‘4'.
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Exercise:

pirections {1 - 43): Find out missing number/ 8.
I,mr/number and Ictter from the following

given options/figures.
1. 171 5 15121 21|17
11 18 ?
()14 (218 (3)20 (4) 19 9
2 126l A |19
18| 15| B
cl7]13
What will come in place of A, B and C 10.
respectively?
. (1) 23,10, 11 (2) 11,23, 20
(3) 23, 101, 10 (4} 10, 11, 23
3 125 192] S6
25 | 2 | 28 t
S 12 14
1 3 7
{1) 64 (2) 56 (3) 48 (4} 40 @
4. 2l 9]aln %
4 3 -
Ll 12.
? ]l 6| a2 %Q,
@y 25, 5
5.
13.
(4) 44
6.
14.
(4) 13
7.
15.
40
\/
72 2) 84 (3) 68 4)66 141

-

?"'.J'u,_.( : % n
o -

g

(1) 10

{2) 11

(3) 17

iy

1 9 4 1609 zsloﬂk{v

(1) 47
12 8

(1) 25

56

15

(1) 25
3

5| 12

2
(1) 50

{2) 64

2

16 6 £25

(3) 241

(19

(1) 57

(1) 425

(08)

2)36 (3)38  (4) 34
22| |34 14
31 P
18 21 16
@152 (312  (4)48
6
4 sl?l2
10
260 (370  (4) 16

156 GW’E’ SOVIO

4

(1) 140

(2) 220

14

19 | 12

13

15 | 17

18

11 ] 7

(1)9

(2) 16

5

10

(3)500  (4) 320

(3) 15

4) 14



16,

17,

18.

19.
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o | s
6 | 7 |a
3 IR
260 | 214 ] @
(1) 191 (3 (22T phdde
s | a]a
25 | 42 |
21 | 100] 20
26 | 07| ?
(72 (220 (&) 27 EY IR
0 1 | -2
1 ] o |1
2 10
(1) 6 (2) -2 {(3) -2 (1)
s | s |2
8 3|10 _
2 [ a1 --
160 | 120] 2
{130 ()12 (3) 13 ,f\ié‘fﬂo
? | 19|47
21 | 22 | 40
1 | 20 so @
20 | 23 4511,‘}’
(1) S N (3} 3 4) 2
i

2

29,

142

(v (.z).af
17| 1
] ?(}()ﬁ
3 et
n‘qf-ﬁ\*ﬁ al
R (315 (4) 6
9 |21
31 ] 36
? |45
8 (25 (3)36 (4S8
[R]
4
(tH[1[2[3 JAIN]T]
5
U
B
| T
(1) EBE, UBH {2) IL}, ELL
(3) ONI, ONT  (4) YDR, EDO
1 4
2(8)4 8(?)10
3 5 0
(1)20 (290 (3360 (I8
6|5
4 hooli4a|7
4 |36 2|9
2 |11 ]
11=
(1)s00  (2)108 (@400

A
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13
T29\14

2\?
8
(1) 64

676/15
11
(2) 81

(3) 100

(4) 121

(l) 15 (2) 10
32, 13
? 14 ! [
3
8
(1) 10 (2) 11

(3) -35

(3) 12

OB O

(1) 18
34,

(2) 22

€

(1) 10

(2)20

1]
(3) 49

(3) 26

(3)12

(4) 13

(4) @ 24
(1) 31

&

(4) 48

(4) 28

(4) 14

38.

(1)0

39, 343 >
27

)
5@6 7.‘) 11

(2) .e

,jl.l

3) 14

125| 6 Q
(1)4 (2)7 g/' (4)512
312 4)15
f& 12 ] 16| 24
311 2
(2045 (3) 33 4) 25
42,
415 3]& 22 4
? 2
6,7,
(1)5,, @25, @s,, (43 8,
43. 9 | 13} 12
19| 10| 5 -
8 2 | 1
(1} 9 2015 (3)13 (4) 11

Answers with Explanation:

1745 = 22+2=11

15+21 = 36+2~18
21 +17=38+2=19

H% 19
]

YW,

1. 4

2. 3 26,
18
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3. 3; Incolumni 3i=9
IS5 =85 x5m25 % 5= 125 K= 25
IncommnlIll ' 77 = 49
7x2=14x2=28x2=56 So, in figure IV
So, In Column II ) 42 = 16
3x4=12x4 =48 x4 =192 69336'
4. 1, Inlrow . 87 = G4 |
ID o }112' 2ty 10. 1; Infigurel
n row 122 g2
?igitlilf's’4 - 144 - 64 = 80
Digits 2+2=4,4+2=26,6 +2=8 ll':ifgg:e
S. 2; 9+3?’=9+9g =318 5-6 26 =
18+32=18+9 =27 - =256, - y
27 + 3% = 27 + 9 = 36 In figure I ]
25%. 207 A
6. 2;
Il 4,
413 3

In half part of circle digit are increasing in
ascending orderi.e, 2,3,4,5

N2

79 - (08 + 37)
=79 - 45 =34
; Infigurel

-

(‘5_6_-!-.15) - (22 + 18)
' ‘ =71.240=3;
“ In figure I1
(34 +21) - (14 + 16)

In the half part of circle digl¢s Rp increas- 155-30=25

INg n ascending order j od@number if, 13.2; In figure 1
AT 0' (Bx34x2x5)+12

.2 4=18 @ =120+12=19

=1gx§+4=4 In figure 11

=4 x -+ -

-84X2+: (6x2x10’c5]-=—x-10

2172 x 2 =848 600 +x = 10
8. 3; 5+8= X=600-+=10
=1 ’ , x=69

N %13 14.3; Infigure|
9, 2; In

missing number jg = 17 {15x 6 x 4) = 36
gure | =360+ 36 a 10
ol In figure 1]
32-9 (63(_‘7)(5)-1.21
53=25 =2‘10+21= 10
12:: JSure | . Infigure
4’-: ‘ (50 x 10 10)+x =10
» 16
6% = 3¢ 5000 +x ~ 10
X=5000+ 10
X =500

144




15.2;

16. 2;

17. 3;

18. 1;

19.1;

20, 4;

yoursmahboob.wordpress.com

In row |
14+19+12=45
In rowll .
13%15+17<35
So, Inrow [l
18+ 11+x=45
29 +x =45

X =45 - 29
x=16

In column I
9x6x5=270-10 = 260

In column {1
8x7x4=224-.10=214

So, in column I original number js
7x8x6=336-10= 2326

In columnl ~

(25+ 5) + 21 = 26

In column II S
(42 +6)+100=107

In column 111

(21 +.3) +20
=7+20=27

Inrowl

0+(=2) _
2
In row ]I

3
l-!-(—l)=0 -
2

™

~ 2+ :'\. .
Missing Number is -

Incolumnl =+
(5x8x2)x2=
In column i1

-1

-43 =47
Then missing number = (21 + 1) - 20 =2

Incolumni=18-12-3=3
Incolumn 1l =32 - 16 - 4 =12
Then, in column I =24 - 14 -x=7
10-x=7 T
X=10-7

X=3

So, missing no. is 3

23! o

«
-y

23, 1,

Y4

24, 3;

25.3;

ot

&
Ingure 1 1
"1ISxq4agg -
Infigurenagug oy, 'f;q’fs;-“u °
'll‘hcn‘pﬁ;sing Tumberis = 19 x 4
nﬁgurcl~(l$-9)><(22-16) '

-6K6-36
135:(]-5-'

Then missin
n
) =64 4 umbch-: (21 -

=120-8x = g4 ; }%
8x = 54 oo %&g
xa? -

{
In figure [ (3 x *@ 55-39
Then rrussmg @bc 3 =ar+ (§ ¥ S) =37

In Column I Rp( 1/ x3)+8 =50
In Column ji —.‘;‘(14 x3)+7m=49
Then migifg.cumber = 5 x x + 6 = 31

St Row —21+7.=3and 32=9

% £
weond Row — 36 + 4 = 9apnd9?= 81

30.3;

31.2;

145

; The“arrangement is 4 +6 = 10,

dThen missing number in third row = 45

+9=5and 5°= 25

In these question

in row—YDR

in column -~ EDO

Then complete word is REDQUBT and
HYDRANT,

; We have — (2?4)-(1 x3} =8-3=95

In the same way (8 x 10) -4x5)=80-
20 =60
102Z 100 ‘
5+7=12,12?= 144
4+2=6,6"=36
In the same way 9 + 11 = 20; 20? = 400
Then missing number is 400,
The arrangment is 7 + 5= 12; 122 = 144
13+ 14 =27; 272= 729
15 + 11 =26; 26°= 676
In the same way 8 + 2 = 10; 10?= 100
Then missing number is 100.
In figurel
(5x6x8)-(7x4x9)
= 240 - 252 = -12 (middle number)’
In figure ll
{(7x5x%x4)-(6x8x9) )
= 140 - 432 = -292 (middle number}

..



32.3;

33. 3;

34. 3;

35.2;

36. 3;

37.2;

38.4;
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53:: 125, 63 = 216

In figure I11
(4x3x5)-(7x2x5) 73 = 343
=60-70=-10 (middle number) Then, 83=512
So, missing number is -10. Then, missing number is 519
Su;n of number in triangle and square 40. 2; Column ] .
= situated in next square T
5?.121236, 8+4=12, 12+1 =13 1(3(:32”:)2:(?
Then missing number is 12 Column II
Inringl, 3+5+7+1°=16 (67 x3) x 2

. 3= 24 -
':‘x;]nngll,3+5+3+2 2 =126 x 2 =252

en,

Then, Column

. . +11+33=49 '
Third ring -7 +4 + 11 = (8 x5 xx) x2 =64

Nurnbers are diagonally multiplied with 4.

1x4=4,6x4=24 2x4=8§ =40xx2 =
So,9 x 4 =36 =40x =649
= 40x = J2¢

Then missing number is 36
Middle number in first row = 3 x 9 =27

Middle number is second row

=27 x3 =21 4], 2;
Then, Middle number in third row =4 x 7 &
=28

Then missing no. is 28
172, g 49

So, 20422342

Then missing number is 26.

I 9"*10—'12

rowlIl, 12—'16'—'24

Then, In row 11, 24*% 371445

Then, missing no is 45.
Clearly, moving anticlockwise.

The arrangment is

2x3=6 i 1o 321, 4L g pig
3x4=12 Moving Clockwise

4 x 5 =20 +3_ 43 9*355

5x6 =30 3—6-—= —*i12-—~15—-18-—-21

Then, missing number is 3,,

43.2, The Sum of allnumbers of cach rowis =34
Then, the missing nurnber is
=8+11+x =34 '

Then, missing numbery
Number in the cnrcl -

or, 19+x=34
or, X=34. 19
or, x =15
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